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 PCS Exam held on 12-12-2015  

1. In haemoglobin, iron shows which one of the 
following oxidation states?  

A. 2+    B. 3+  

C. 1+    D. 4+  
2. Isotopes are atoms of the same element with 

different number of  

A. Protons    B. Electrons  

C. Neutrons   D. Positrons  
3. Cleansing action of soap occurs because  

A. Oil and grease can be absorbed into the 

hydrophobic centres of soap micelles and 
washed away.  

B. Oil and grease can be absorbed into hydrophilic 

centres of soap micelles and washed away.  
C. Oil and grease can be absorbed into both 

hydrophilic and hydrophobic centres but not 

washed away.  

D. Cleansing action is not related to micelles.  
4. 'Jaya' and `Rama', developed for green revolution in 

India are the varieties of  

A. Rice   B. Wheat  
C. Bajra   D. Pulses  

5. Who among the following described democracy as 

the tyranny of the majority?  
A. J. Rousseau   B. Alexis de 

Tocqueville  

C. John Dunning  D. James Madison  

6. The organ of human body which collects 
carbohydrates in the form of glycogen is  

A. Intestine   B. Stomach  

C. Pancreas   D. Liver  
7. The working of optical fibre cable is based on the 

principle of  

A. Total internal reflection  

B. Polarization  
C. Diffraction  

D. Interference  

8. X-rays do not show the phenomenon of  
A. Diffraction    B. Polarization  

C. Deflection by electric field  D. Interference  

9. 1
H3 and ,2He

4
 are  

A. Nuclear isomers 

B. Isotones 

C. Isodiaphers 

D. Isobars 
10. A block of weight 1N is moving with an 

acceleration of 1 m/s
2
. The force on the block is  

A. 1 N   B. 9.8 N  

C. 
1

9.8
𝑁  D. 4.9 N  

11. Which printer uses a combination of laser beam and 

electro photographic techniques?  

A. Laser printer   B. Dot-matrix printer  

C. Line-printer   D. None of the above  

12. The electronic configuration of an atom is 
1
s2, 

2
s2, 

2
p5. The number of unpaired electrons in this atom 

are  

A. 1    B. 0  
C. 3    D. 5  

13. Which property of water makes it a good solvent?  

A. High boiling point  B. High dipole moment  

C. High specific heat  D. High specific gravity  
14. Consider the following statements :  

1. Radon is the heaviest gas.  

2. Astatine is a rarer element on Earth.  
3. Graphite is an allotrope of carbon.  

Which among the above statement (s) is/are 

correct? 
A. 1 and 2  B. 1 and 3 

C. Only 3  D. All of them 

15. Which of the following ecosystem type, has the 

highest annual net primary, productivity?  
A. Tropical deciduous forests  

B. Tropical rain forests  

C. Temperate deciduous forests  
D. Temperate evergreen forests  

16. Which of the following are incorrect, matched?  

1)  Basel Convention Biodiversity 

Conservation 

2)  Montreal Protocol Global Warming 

3)  Kyoto Protocol 'Climate Change 

Ramsar 

4)  Convention Groundwater 
Pollution 

A. 1, 2 and 3   B. 1 and 4  

C. 3 and 4    D. 1, 2 and 4  

17. The targets for the first commitment period of the 
Kyoto Protocol cover emissions of the six main 

greenhouse gases. Which of the following gas is not 

one of these?  
A. Carbon tetrachloride (CTC)   

B. Hydrofluorocarbons (HFCs)  

C. Perfluorocarbons (PFCs)  
D. Sulphur hexafluoride (SF6)  

18. Choose the correct match :  

A. Corbett   - Madhya Pradesh 

B. Dana    - Rajasthan 
C. Perambakulam  - Karnataka   

D. Bandipur   - Tamil Nadu  

19. Which of the following is a native species of India?  
A. Two-horned rhinoceros  

B. Rhesus monkey  

C. Komodo dragon  

D. None of the above  
20. High Biological Oxygen Demand (BOD) indicates  

A. High level of Microbial Pollution  

B. Low level of Microbial Pollution  
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C. Absence of Microbial Pollution  

D. None of the above  
21. Which one of the following is not correctly 

matched?  

A. Sociological Approach — G.Catlin  
B. Philosophical Approach — Leo Strauss 41 

C. Historical Approach — John Rawls  

D. Integrated Approach — Carl J. Friedrich  

22. Who described the 'Government of India Act, 1935' 
as a 'new charter of bondage'?  

A. Mahatma Gandhi  B. Sardar Patel  

C. Jawaharlal Nehru  D. Rajendra Prasad  
23. Who among the following theorists advocated 

participatory democracy?  

A. F.A. Hayek   B. C.B. Macpherson  
C. Michael Oakeshott  D. Gaetano Mosca  

24. "The duty of an opposition is to propose nothing, to 

oppose everything and to turn out the Government," 

Who said this?  
A. Sir Ivor Jennings  B. George Tierney  

C. Lord Bryce   D. A.L. Lowell  

25. Match List 1 and List 2 and select the correct 
answer.  

List I List II 

A. 93
rd

 

Amendment 

1. Parliament's powers to 

amend Fundamental 
Rights 

B. 97
th
  

Amendment 

2. Abolition of special 

privileges of Princely 

States, titles and 
pensions 

C. 24
th
 

Amendment 

3. Reservation for OBCs 

in unaided educational 
institutions 

D. 26
th
  

Amendment 

4. New Cooperative Act 

A. 1  3 2 4 
B. 3  4 1 2 

C. 4  2 3 1 

D. 3  1 2 4  

26. Which of these constitutional amendments does not 
pertain to addition of ore languages in the 8th 

Schedule?  

A. 21
st
 Amendment  B. 71

st
 Amendment  

C. 92
nd

 Amendment  D. 29
th
 amendment 

27. As a member of the Constituent Assembly, Sardar 

Patel did not lead which of the following 
committees?  

1. Committee on Tribal and Excluded Areas  

2. Committee on Minority Affairs  

3. Committee on Fundamental Rights 
4. Committee on Devolution of Power to the 

Union  

A. 1, 2 and 3   B. 2, 3 and 4  

C. 4 only   D. 2 and 4 only  

28. The member of judges in the International Court of 
Justice is  

A. 15    B. 10  

C.11    D. 14  
29. Which of the following is not a financial committee 

of the Parliament?  

A. Public Accounts Committee  

B. Estimates Committee  
C. Committee on Public Undertaking  

D. Join recommitted on Offices of Profit  

30. Who among the following can attend meeting of 
both houses of Parliament while not being a 

member of either?  

A. Solicitor General of India  
B. Vice-President of India  

C. Comptroller and Auditor General or India  

D. Attorney General of India 

31. Which of the following States was the firs: to 
establish Panchayati Raj System 1:- India?  

A. Rajasthan   B. Maharashtra  

C. Punjab   D. Bihar  
32. Which Constitutional amendment delete,: the right 

to property from Chapter III and made it a legal 

right only?  
A. 24th Amendment  B. 39th Amendment  

C. 42nd Amendment  D. 44th Amendment  

33. Which of the following toilet and cosmetic objects 

were not likely known to Indus valley people?  
A. Bronze mirrors  B. Ivory combs  

C. Antimony rods  D. Hair dyes  

34. Consider the following Bhakti Saints :  
1. Dadu Dayal   2. Guru Nanak  

3. Tulsidas  

Who among the above was/were preaching when 

Lodi dynasty fell and Babur took over?  
A. 1 and 3   B. 2 only  

C. 2 and 3   D. 1 and 2  

35. Which among the following apparently impressed 
Jahangir to issue a Farman in 1613 A.D. to the 

English to establish a factory at Surat?  

A. Reconciliation between the English and 
Portuguese.  

B. A secret offer of naval help to the Mughal 

emperor to oust the Portuguese.  

C. A heavy dose of bribe to Nur Jahan.  
D. The defeat of Portuguese naval squadrons by 

the English.  

36. The only major industry in the hands of Indian 
Capitalists during the late nineteenth century was  

A. Cotton textile  B. Jute  

C. Iron and Steel  D. None of these  
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37. During the reign of which of the following Mughal 

emperors was the Sikh leader Banda Singh Bahadur 
captured and executed?  

A. Aurangzeb   B. Bahadur Shah  

C. Jahandar Shah   D. Farukhsiyar  
38. Which one of the following is correctly matched?  

A.  Woods Dispatch Primary 

education 

B.  Hunter Commission Secondary 
education 

C.  Raleigh Commission University 

education 

D.  Sadler Commission Rejection of 
filtration theory 

 Which is a valid generalization about the immediate 

result of the French Revolution of 1789?  

A. The Roman Catholic Church increased its 
power.  

B. The Revolution established peace, democracy 

and justice.  
C. The Revolution had little impact outside 

France.  

D. The French middle-class gained more power.  

39. The Russian peasants supported the Bolsheviks in 
the 1917 Revolution mainly because the Bolsheviks 

promised to  

A. Establish Collective farms.  
B. Maintain the agricultural price-support system.  

C. Bring modem technology to Russian farms.  

D. Redistribute the land owned by the nobility. 
40. Under the Government of India Act, 1935, each of 

the following Provincial Legislatures consisted of 

two chambers, except  

A. Assam   B. Bihar  
C. Madras   D. Punjab  

41. Himachal Pradesh hosted the Paragliding World-

Cup from 23 October to 31 October, under the 
aegis of Para-gliding World-Cup Association in  

A. Kangra Valley   B. Chamba Valley  

C. Spiti Valley   D. Kullu Valley  
42. The World Sparrow Day was observed globally on 

20 March, 2015 with the theme  

A. Sparrow and People  B. I love sparrows  

C. Rise for sparrow  D. Save sparrow  
43. Which Search Engine launched its flight search tool 

in India on 13 January, 2015, that allows users to 

find and compare airfares online and book tickets 
directly?  

A. Yahoo    B. Google  

C. Bing    D. Ask  

44. The 'Best Tableau' award during Republic Day 
Parade, 2015 was won by  

A. Karnataka   B. Maharashtra  

C. Jharkhanct   D. Rajasthan  

45. Name the National Park/Bird Sanctuary that was 

shut down on 11 January, 2015 for one week after 
47 migratory birds were found dead in the park.  

A. Keoladeo National Park  

B. Bharatpur Bird Sanctuary  
C. Salim Ali Bird Sanctuary  

D. Sultanpur National Park  

46. National Youth Day, observed across India on 12 

January commemorates the birth anniversary of 
which famous Indian personality?  

A. Swami Dayanand Saraswati  

B. Swami Vivekanand  
C. Aurobindo Ghosh  

D. Rabindranath Tagore  

47. Name the Space Telescope that on 6 January, 2015 
discovered the 1000

th
 exoplanet in Constellation 

Lyra.  

A. Hubble   B. Chandrasekhar  

C. Kepler   D. James Webb  
48. The Tenth Ministerial Conference of the WTO will 

be held from 15 to 18 December, 2015 in  

A. Doha   B. Bali  
C. Nairobi  D. Singapore  

49. Debt-trap means  

A. More aid is needed to meet the debt- servicing 
requirements.  

B. More debt is needed to finance development 

expenditure 

C. More debt is required to finance 
D. All of the above 

50. Capital Account of Balance of Payments can 

include 
A. Loans   B. Banking capital  

C. Foreign investment  D. All of the above 

51. Who among the following described the worldwide 

triumph of liberal democracy a type of as the "end 
of history"?  

A. Samir Amin         B. David Held  

C. Francis Fukuyama.   D. Samuel P. Huntington 
52. Which ones of the following are quantitative 

inflation control methods?  

1. Bank Rate  2. CRR  
3. SLR   4. Open Market Operations  

A. 1 and 4   B. 1, 2 and 3 

C. 1 only   D. All of the above 

53. Adam's Bridge starts at  
A. Dhanushkodi   B. Mandapam  

C. Pamban   D. Rameshwaram 

54. The British industrial policy in India has been 
rightly called as the policy of C.  

A. Stagnated growth subsidy schemes.  

B. De-industrialization D.  
C. Colonization of economy  

D. Monopolized Europeanization can include  
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55. The Baglihar Project is on the river  

A. Chenab   B. Jhelum  
C. Indus    D. Kishanganga  

56. Shale, from which shale gas is produced is  

A. Sedimentary rock B. Igneous rock  
C. Metamorphic rock  D. None of the above  

57. Which of the following towns was not attacked by 

Baba Banda Singh Bahadur? 

A. Kaithal    B. Samana  
C. Bilaspur   D. Lahore  

58. Which is not correctly matched?  

A.  Sukerchakia Naudh Singh 

B.  Nishan Walia Dasaundha Singh 

C.  Bhangi Hari 

Singh  

Hari Singh 

D.  Nakkai Jai Singh 

59. Given below are four important events from Sikh 
history :  

1. Chhota Ghallughara 

2. The execution of Bhai Mani Singh  
3. Vadda Ghallughara  

4. The execution of Baba Banda Singh  

The correct chronological sequence of these events 

is  
A. 1, 2, 3, 4   B. 4, 2, 1, 3  

C. 1, 3, 4, 2   D. 1, 3, 2, 4  

60. Given below are the names of 4 cities of Punjab:  
1. Muktsar  2. Moga  

3. Mansa   4. Malerkotla  

If arranged from West to East, the correct sequence 
is  

A. 1, 2, 3, 4   B. 1, 3, 2, 4  

C. 2, 3, 4, 1   D. 3, 2, 1, 4  

61. Who introduced free verse in Punjabi literature?  
A. Bhai Veer Singh  B. Puran Singh  

C. Amrita Preetam  D. Dhani Ram  

62. Chatrik dam is built on Beas River.  
A. Bhakhra Nangal  B. Thein  

C. Shahpur Kandi  D. Pong  

63. District of Punjab has the highest female literacy 
rate as per 2011 census.  

A. Mohali   B. Luchiana  

C. Hoshiarpur   D. Jalandhar  

64. Which of the following statements is/are correct?  
1. Subir Gokarn will replace Rakesh Mohan on 

the Executive Board of the International 

Monetary Fund (IMF).  
2. Subir Gokarn will represent India. Bangladesh, 

Sri Lanka and Bhutan on the International 

monetary Fund's (IMF's) Executive Board.  

3. Subir Gokarn's name was cleared by 
Appointment Committee of Cabinet.  

4. Subir Gokarn has been a Deputy Governor at 

Reserve Bank of India (RBI).  

5. The Executive Board of the International 

Monetary Fund (IMF) is responsible for 
conducting the day-to-day business of the IMF.  

A. 2, 3, 4 and 5  B. 2 and 4  

C. 2, 4 and 5 D. All of the above  
65. Which of the following canals were constructed as 

a part of the Triple Canal Project that began in 

1905? 

1. Upper Bari Doab Canal  
2. Upper Jhelum Canal  

3. Upper Chenab Canal  

4. Lower Bari Doab Canal  
A. 1, 2 and 3   B. 1, 3 and 4  

C. 2, 3 and 4   D. 1, 2 and 4 

66. The first freedom fighter to evolve non- 
cooperation and use of swadeshi as 123.51 million 

loan agreement with Asian political weapons was 

Development Bank. The loan will be used  

A. Bal Gangadhar Tilak  B. Mahatma Gandhi  
C. Satguru Ram Singh  D. G.K. Gokhale 

67. Consider the following statements : 3. Jammu and 

Kashmir  
1) MUDRA in an agency for providing easy loans 

up to Rs. 10 lakhs to micro A. 1, 2 and 3 and 

small entrepreneurs 
2) SC/ST entrepreneurs will be given priority in 

providing loans under MUDRA. 

3) MUDRA is a development and regulatory 

agency for medium scale industry. 
Which of the above statement(s) is/are true?  

A. 1 only   B. 2 and 3  

C. 1 and 2   D. 3 only 
68. Lala Lajpat Rai was associated with which of the 

following newspapers?  

1. Kohinoor   2. The Punjabi  

3. Vande Mataram  4. The People 
A. 2, 3 and 4   B. 1, 2 and 4  

C. 2 and 4   D. All of the above  

69. On 28 September 2015. India signed $ 123.51 
million loan agreement with Asian Development 

Bank. The loan will be used for upgrading tourism 

infrastructure in which of the following States?  
1. Punjab   2. Himachal Pradesh 

3. Jammu and Kashmir 4. Uttrakhand 

A. 1, 2 and 3  B. 1,2 and 4 

C. 2, 3 and 4  D. 2 and 3 
70. The Reserve Bank of India (RBI) has declared 

which of the following banks as Domestic 

Systemically Important Banks (D-SIBs)?  
1. Axis Bank   2. HDFC  

3. ICICI   4. State Bank of India  

A. 1 and 2 only  B. 2 and 3 only  
C. 3 and 4 only  D. 1, 2, 3 and 4 
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71. Match List 1 and List 2 and select the correct 

answer.  

List I List II 

A. Namdhari  1. Dayanand Saraswati 

B. Nirankari 2. Guru Balak Singh 

C. Radha Swami 3. Dyal Das 

D. Arya Samaj 4. Shiv Dayal 

A. 3  2  4  1  

B. 4  2  3  1  

C. 2  3  4  1  
D. 3  4  2  1  

72. A person who is not a member of Parliament can be 

appointed as a Minister by the President for a 

maximum period off  
A. 9 months   B. 3 months  

C. 12 months   D. 6 months  

73. Consider the following countries:  
1. Australia   2. Namibia  

3. Brazil    4. Chile Through  

which of the above does the Tropic of Capricorn 
pass?  

A. 1 only    B. 2, 3 and 4  

C. 1, 2 and 4   D. 1, 2, 3 and 4  

74. The Tropic of Cancer passes through which of the 
following States?  

1. Gujarat    2. Jharkhand  

3. Assam    4. Mizoram  
A. 1, 2 and 4   B. 1 and 2  

C. 1, 3 and 4   D. 1, 2, 3 and 4  

75. Consider the following statements:  

1. The Akali Movement started with the objective 
of freeing the gurudwaras from the control of 

mahants.  

2. Mahants were loyal to the British regime.  
3. General Dyer, the perpetrator of Jallianwala 

massacre was honoured in the Golden temple.  

Which of the above statement(s) is/are true?  
A. 1 and 2 only  B. 2 and 3 only  

C. 1 only   D. All of the above  

76. Which of the following were associated with the 

Peasant Movement in Punjab?  
1. Baba Sohan Singh   

2. Baba Rur Singh  

3. Teja Singh Swatantar  
4. Wadhawa Ram 

A. 1, 2 and 3 only  B. 2, 3 and 4 only 

C. 1, 3 and 4 only  D. All of the above   
77. Political democracy is associated with  

A. Tocqueville 

B. Sartori 

C. Bryce 
D. Webb 

78. The practice of appointing government servants 

from and by the political parties victorious at the 
polls results in 

A. Filibuster   B. Gerrymandering  

C. Log-rolling   D. Spoils system  
79. Transition zone between two ecosystems  

A. Eco-cline  B. Eco-tone  

C. E-cad    D. Eco-barrier  

80. Due to improper disposal of used computers, or 
their parts, which of the protected areas in India, the 

local people following are released into the are not 

allowed to collect and use the environment?  
A. Beryllium and Cadmium  

B. Chromium and Mercury 

C. Lead 
D. All of the above 

81. Which factor most enabled Japan to rebuild and 

modernize rapidly after World War II? 

A. Vast mineral reserves  
B. Large amounts of fertile land  

C. A strong military  

D. A well trained workforce 
82. Which of the following are Indian endangered 

fauna? 

A. Gangetic whales 
B. Baleen whales 

C. Wild dogs 

D. All of these 

83. Silent Valley, the biodiversity hotspot is situated in  
A. Mumbai   B. Uttarakhand  

C. Kerala    D. Karnataka  

84. Fundamental Duties were incorporated in is called 
the Constitution on the recommendation of Eco-

cline  

A. Shah Commission  

B. Administrative Reforms Commission  
C. Santhanam Committee  

D. Swaran Singh Committee  

85. In which of the following categories of  
A. Biosphere reserves  

B. National parks  

C. Wetlands  
D. Wildlife sanctuaries 

86. The Dinesh Goswami Committee v, as rebuild and 

modernize rapidly after World concerned with War 

II?  
A. De-nationalisation of banks  

B. Electoral reforms  

C. Anti-Defection measures  
D. Higher education  

87. The Supreme Court of India tenders advice to the 

President on a matter of law or fact  
A. On its own initiative  

B. Only if he seeks such advice  
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C. Only if the matter relates to the Fundamental 

Rights of the citizens  
D. Only if the issue poses a threat to the unity and 

integrity of the country  

88. The members of the Constituent Assembly which 
drafted the Constitution of India were  

A. nominated by the British Parliament  

B. nominated by the Governor General  

C. elected by the Legislative Assemblies of 
various provinces  

D. elected by Indian National Congress and 

Muslim League  
89. The district of Punjab having the lowest population 

density is  

A. Moga    B. Mansa  
C. Muktsar   D. Fazilka  

90. Punjab shares roughly   kms of International border.  

A. 553  B. 682   C. 366   D. 464  

91. According to Karl Marx, history is the record of  
A. Granting of more political liberties to all people  

B. Struggle between classes in society  

C. Wars and conflicts between nations  
D. Increasing prosperity brought about by 

industrialization 

92. Match List 1 and List 2 and select the correct 
answer  

List I List II 

A. Loo 1. West Bengal 

B. Kal Baisakhi 2. Kerala 

C. Mango Showers 3. Tamil Nadu 

D. Winter Rainfall 4. Rajasthan 

 

 A  B  C  D  

A. 4  1  2  3  
B.  1  2  4  3  

C.  3  4  1  2  

D. 1  3  4  2  
93. The area for which land-use classification data can 

be obtained is called,  

A. Reporting area  B. Cultivable area  

C. Recorded area  D. Productive area  
94. Sun traverses 1 Degree of longitude every 

________ minutes.  

A. 6 B. 8   C. 15  D.4  
95. Assuming that the Earth is a perfect sphere, one 

degree of latitude would cover approximately how 

much distance on the Earth?  
A. 111 km   B. 151 km  

C. 201 km    D. 360 km  

96. The attack on Pearl Harbour by Japan during World 

War II was aimed at neutralizing   and preventing it 
from interfering in Japan's military operations in   

A. U.S. Pacific Fleet, South Asia  

B. U.S. Atlantic Fleet, South Asia  

C. U.S. Seventh Fleet, East Asia  

D. Pacific Fleet, South-East Asia  
97. Which of the following is not true with reference to 

the climatic conditions required for the cultivation 

of wheat?  
1) It requires a cool growing season 

2) It requires bright sunshine at the time of 

ripening.  

3) It requires more than 100 cm of annual rainfall.  
4) It can be frown in all parts of India. 

A. Only 1 and 2   B. Only 2 and 3 

C. Only 3 and 4   D. Only 4  
98. Which of the following statements are true about 

the recently test-fired Barak-8 missile? 

1. Barak has been jointly developed by India and 
Israel.  

2. It is a surface-to-surface missile. 3. It has a 

range of 80 kms.  

A. 1, 2 and 3    B. 1 and 2 only  
C. 2 and 3 only  D. 1 and 3 only  

99. In Eastern Europe, after World War I, the greatest 

obstacle to national unity in many nation states was 
the  

A. Great ethnic diversity found in the region  

B. Economic dependence of Eastern Europe on 
Japan  

C. Acceptance of democratic tradition by most 

Eastern Europeans  

D. Expansion of United States' influence in the 
region 

 

1) A 2) C 3) A 4) A 5) B 

6) D 7) A 8) C 9) B 10) C 

11) A 12) A 13) B 14) D 15) B 

16) D 17) A 18) B 19) B 20) A 

21) C 22) C 23) B 24) B 25) B 

26) D 27) C 28) A 29) D 30) D 

31) A 32) D 33) D 34) B 35) D 

36) A 37) D 38) C 39) D 40) D 

41) D 42) A 43) B 44) B 45) B 

46) * 47) B 48) C 49) C 50) A 

51) D 52) C 53) D 54) A 55) B 

56) A 57) A 58) D 59) D 60) B 

61) A 62) B 63) D 64) C 65) D 

66) C 67) C 68) C 69) D 70) B 

71) C 72) C 73) D 74) D 75) A 

76) D 77) D 78) B 79) D 80) B 

81) D 82) D 83) D 84) C 85) D 

86) B 87) B 88) B 89) C 90) C 

91) A 92) B 93) A 94) A 95) D 

96) A 97) D 98) C 99) D 100) A 
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